fagamEe sifes fgamds adaT
FaTT — 55 et - 26 o6 -3
R Ry R R -dwe FAR
e, H, §, IR, W arRa
UATT Fedi IS VY F a7 eI FA

wfer &Y aRemT
&Y quit (TR AT <TSTeT) o Al A 8l aTel AP vl T g B

qaY 7Y H- G &7 WA 31 § A | 3HH & 3eR A @ e 2reg T T g 8, 38
! Gf hgd g

I AAeaT H- ST Uy AT AT & AT T 7T 2T Folat U 3oAeh fasheddr guil  gley dTel
g AT fIh I T sga E

Gfer 7 enfeea 372 &- A a1 g AT| ST Y Uit T AT 3cded [Aeedl & FRUTEIAT &
a9 3AH Is--HhIs IRad gidT & 3R Far aRade fr & A1 & 1 AT &

Hftr fa=ad- 3o uel 1 T §9 H qUe X 3o Afer faese B

- B + 3Terg= feaATer (T8 T 8), 3rca®e= 317 + 3170« (g8 of A= B)

21 + 3Ra= FufRg
IqIA: + FTO= AASTS
3T + SeR= 1f@erew
JTCAT + 3cH3T= ATCATCHA]
HET + K= ATy

e + 3TFd= ApIfdd

A fRYUF 316RT TATHT ATHH A Tt ¢ T 7 9T 2T FT T BIeT 81 ST g i
TS T G B



A F AT

guit & 3R 9T T & el 91 &-
(1)FaT gfer

(2)sToTeT Wi

(3)fawet wfer

(VTR ERY - a7 T O 3797 [qR 312ar FI-RadsT I TaT 7 Fed 2

q@ ereal A~ "Fa gUT & Y T GUT & Aol I S T 397 gl ¢, 38 "FaX HE dhgd]
g

S faear + 37 = faeardl, g + 3¢7 = Fle, A + 35 = Helleq, Hid + $2a =
HAIRT,

HET + 37 = A



	संधि की परिभाषा
	संधि के भेद

